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( Major )

Paper : 5.1

Full Marks : 60

Time: 3 hours

The figures in the margin indicate full marks

for tlrc questions

> I ulEv<fr{t: )x1=1

(+) 'mR centrq' 4lr54E qr+ ft dlrlc{ qll {1T ?

("r) '6q1ft{' src{ ft r

(q) q.(r sqa' afi< y et{Fr s-qq-{-q 4{ ft r

(s) 4q Tr<{ TI-{ Tror wRn t

(s) cfllrqzr<T qrq efi qN fr r

(u) vqt{ W&Ts r'< "Ffi <<q qftQq 2

(q) 6gqq1-4' qra{ ft z
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12)

a. I qft<t fh<tsisUs<fr?fi : tx8=u

(n) c<qfrfte{ F h.1+< eu<to fu ?flRq r

(.r) F* Wq i\qtqh qq KqIflr cse-{ts etfBRq
qw \5t{ +qo ft ffiq r

(ur) <Trq <'sT{ su-{tq fu ?qRq t

(s) 'qq'ffi' q-E \iaq;q1' ete T{fr cfr{ 1lr<TA $

rTRBirr q-"rtk*lt?

e I erqiq-qiq& nfR<Tm $-<t (R corc{ frRA) : cxe=>c

(n) 'Kq T+\ cor< frrq
Rrq q-{T crR r

fr-aq r{q TS D-{'f

aql-a aft @tt

({) qrcq sfidtcr ft frfres oqi rt{q, q frnmz-r
qtRzs csr-{!:F csn fu, str{o e{ farc r

(fl) A-fss qtzqn {icT s <Kr< gqfrq nRcl;
kq<.cs "r<flq srs-c{rqtT{ {rc{ tq.< uR cerq r

(s) {R-{ cq-Tr n{ eR. $ <tR r

si{.{ q-xl-ls \$fr fiRqr qRR rr

nvr+ qiR qfr amq 6aH 1

sr {< w< ffi qR qR c{rE rr

(s) cqRcn <vq uq <R qrq 
r

qr-{s c{R sr{qq qlq l

{3)

8 I fr cflrqT ffifi rm b-s-< trjT : )oxg=e6

(o) qiftlt qlb qr+ q(TE qt-s-{ {rqs qrf,r qr?r
lrytr ?<rTrT.r< fisel qrcffD-{t s-{t r

(.t) Ts<-(?fi 'TRA q<q' {Fs qbJor-fi ffiffrs-'sr
c+rlqn {w }q6q, q-6-+t6q14-<t 

I

(tf) ql<<rcq-fi 'q-{+ vqr' atbe frf{-{ qRsr ft q"r
ersTfis lq6q, q6-q6q 5-s1 1

(s) (euofi-46q-fi 'q-fifqt' ltto ltll&-$ cEFilD'K?r

fi1'.fa 6g6aqE66t cqr<l {Irl, c?'te<I r

(s) fitsn qsrs Te-El E{"r' +tts< xert-l#o efr
Rasq qq:rcqxll 

r

(u) *tee<llsT tuls 4b {D;flR qF C$-c{q-C{ q-{-{Ro

{<?q {RRE 6& R{c{ cqr$"lr{ qfr R-cfl{q
qlrKctrKl 

I

(q) $fil qq$rr rtbrr1br+ .sqflR qr+ 
1oEtmu<

"r{l qRrl q"lBqTq fr fr G"nnrq sRq rRcq,
?KD qtR qrcElg;fi gqf I

***
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